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1. His study of the situation covers a great deal of 
relevant material but does not tackle the real issues 
_____ enough. 

 
A) disturbingly  B) outrageously C) vaguely 
D) adequately  E) currently 
 

2. He has behaved ____ on many occasions, so this 
instance of impoliteness is hardly surprising. 

 
A) shyly  B) endearingly C) sensitively 
D) readily  E) inconsiderately 
 

3. If he feels he’s being criticised he’ll sometimes make 
_____ dogmatic statements. 

 
A) suggestively B) functionally C) seldom 
D) incredibly  E) safely 
 

4. The criticism he made concerning the annual fiscal 
report was ____ to the point. 

 
A) remarkably  B) immediately C) incessantly 
D) preferably  E) incompetently 
 

5. The surgeon was ____ embarrassed to learn that a 
piece of bandage had been left inside the abdomen. 

 
A) outstandingly B) nervously C) sensitively 

D) loosely  E) extremely 
 

6. Few, if any, of the statements could be ____ 
substantiated by concrete experimental evidence. 

 
A) intentionally B) successively 
C) restrictedly  D) impressively 
E) conclusively 

 
7. I was greatly impressed by the way the judge 

conducted the trial, _____ when it came to summing up 
the case. 

 
A) particularly  B) completely C) sufficiently 
D) effectively  E) respectively 
 

8. For the present, the party is expected to put its 
differences aside and campaign ____ for a victory at 
the forthcoming elections. 

 
A) vigorously  B) awkwardly C) precisely 
D) distinctly  E) reluctantly 
 

9. Industry has developed rapidly in certain countries as 
raw materials are ____ available there. 

 
A) repeatedly  B) scarcely C) consequently 
D) abundantly  E) indefinitely 

 
10. The current social security system is ____ popular, 

partly because its universal and partly because 
retirement benefits are related to contributions, so 
most people think the system is fair. 

 
A) extremely  B) likely  C) eventually 
D) indispensably E) favourably 
 

11. They have had to agree to provide free lunches, but 
obviously they have had done so ____ . 

 
A) faultlessly  B) precisely C) exceedingly 
D) reluctantly  E) extraordinarily 

 
12. We will have to hire more workers soon; we can’t put 

it off ____  
 

A) plainly  B) supremely C) emphatically 
D) intensely  E) indefinitely 

 
13. At present the rate of economic growth is very 

satisfactory, but _____ when foreign competition 
makes itself felt this will not be the case. 

 
A) enthusiastically B) eventually C) considerably 
D) effectively  E) preferably 
 

14. There’s nothing very brilliant about the report, but he 
has ____ collected all the data needed. 

 
A) infectiously  B) recklessly 
C) considerably D) restrictively 
E) conscientiously 
 

15. What really surprised everybody was that he saved 
the company from bankruptcy quite ____ . 

 
A) extremely  B) relatively 
C) dependently D) single-handedly 
E) responsively 
 

16. The allocation made by the budget committee can be 
used ____ to finance work on child health. 

 
A) plainly  B) excessively C) extremely 
D) remarkably  E) solely 



 
 
 

 
AKIN EĞİTİM ve YAYINCILIK HİZMETLERİ 

Meşrutiyet Caddesi No: 27 Kat: 6 Kızılay ANKARA - (312) 417 07 20 - (312) 417 07 22  
WWW.KPDS.ORG 

 

17. The argument he has put forward is hardly ____ with 
the information we have so far received on the case. 

 
A) reflective  B) representative 
C) arbitrary  D) resistant 
E) compatible 
 

18. I have looked through the report, but I must admit, 
only ____ . 

 
A) carefully  B) thoroughly C) superficially 
D) seriously  E) experimentally 
 

19. Industry as a whole was badly affected by the 
restrictions, but it was the high technology sector that 
suffered most ____ . 

 
A) blatantly  B) randomly C) reasonably 
D) tightly  E) acutely 
 

20. Because of their high toxic contents, none of these 
chemicals can ____ be permitted for export to any 
country. 

 
A) fruitfully  B) adequately C) presently 
D) notoriously  E) equivocally 

 
21. It is ____ ten years since AIDS caught the world’s 

attention. 
 

A) formidably  B) generously C) pertinently 
D) roughly  E) inevitably 

  
22. The new ceramics, which have little in common with 

the chinaware we use in our kitchens everyday, are 
being used ____ in engines and electronics. 

 
A) depressingly B) seemingly C) increasingly 
D) discouragingly E) obligingly 

 
23. Progress in materials research is ____ to overcoming 

such problems as the finiteness of the world’s 
resources and possible shortages of strategic 
materials. 

 
A) crucial  B) inexpensive C) adamant 
D) subversive  E) subsequent 

 
 
 
 
 

24. Launched as the new regulatory authority for the 
countries banking and insurance sector, the National 
Financial Services Management will extend its 
activities so as ____ to cover more than 40% of the 
national economy. 

 
A) exceptionally B) ultimately C) inherently 
D) fluently  E) apparently 
 

25. In the past 30 years , our knowledge of the ancient 
Maya civilization has increased …… as a result of the 
decipherment of a newly discovered script. 
 
A) significantly  B) alternatively  C) suspiciously  
D) persuasively  E) conditionally 

 
26. The discovery of a ________________ cancer-causing 

chemical in foods like crisps, chips and cereals caused 
shock waves around the world when it hit the headlines 
earlier this year. 

 
A) potentially  B) remarkably C) controversially 
D) memorably  E) concisely 

 
27. Sponsorship is being increasingly allowed in schools 

provided it is regarded as being ________________ with 
educational curricula. 

 
A) considerate  B) predictable C) decisive 
D) compatible  E) provocative 

 
28. The Chief of the Intelligence Service told me ____ that 

there would soon be several important changes made 
in the organisation. 

 
A) crucially  B) skilfully C) confidentially 
D) laterally  E) considerably 

 
29. The executive committee was of the opinion that the 

motion must be passed ____ . 
 

A) in truth  B) at all costs C) by heart 
D) in connection E) at all 
 

30. It is ____ surprising that the art of ancient America 
remains the most mysterious and the least accessible. 

 
A) urgently  B) notably C) indifferently 
D) elaborately  E) hardly 
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31. Bartok was influenced as much by the musical 
innovations of Debuasy and Starvinsky as by East 
European, ____ Hungarian, folk music. 

 
A) exceedingly B) notably C) appropriately 
D) vehemently E) adequately 
 

32. The contemporary world economy differs ____ from 
what the traditional economic theorists of the 1930s 
envisaged. 

 
A) primarily  B) likely  C) conversely 
D) profoundly  E) intimately 

 
33. In recent years ____ complex and persistent problems 

in economic and social fields have led people to 
wonder why once comfortable answers no longer 
seem adequate to today’s questions. 

 
A) generously  B) inadvertently C) increasingly 
D) ingeniously  E) leisurely 
 

 34. ____ populated, rural Northumberland is one of the 
most unspoiled countries in England. 

 
A) Sparsely  B) Nearly C) Primarily 
D) Suitably  E) Efficiently 
 

35. The quartet's rendering of Mozart is ---- good, but l 
have mixed feelings about the Schubert collection. 

 
A) exceptionally  B) sensitively  C) preferably 
D) impulsively  E) impartially 

 
36. Unless you use your computer ----, you can't expect it 

to function well. 
 

A) surely   B) particularly  C) recently 
D) properly   E) soundly 

 
37. Pharmaceutical firms are wary of devoting money to 

new antibiotics whose sales can be ---- limited by the 
development of resistance in the target microbes. 

 
A) accurately   B) adequately C) severely  
D) complacently E) confidently 

 
38. By the start of the 1990s, popular music had become -

--globalized, with seventy per cent of all production 
resting in the hands of just five companies. 

 
A) possibly   B) rarely  C) negligently  
D) significantly E) respectively 

39. In the largely closed economies of the Gulf, private as 
well as public funds have ---- turned to real estate and 
equity markets, fuelling a dangerous speculative 
boom. 

 
A) unlikely   B) nominally  C) rapidly 
D) still   E) tightly 

 
40. The Allied bombing campaign against Germany in 

World War II exacted terrible damage on the country’s 
factories, transportation network, population, and ---- 
very limited fuel-production capacity. 

 
A) already   B) solely  C) immediately 
D) inadequately E) rightly 

 
41. The ozone layer may still act like a protective blanket, 

but scientists continue to worry about the sun's ____ 
lethal effects. 

 
A) potentially  B) equivalently C) indifferently 
D) abruptly  E) approximately 

 
42. The distinction between a language and a dialect is a -

---- difficult one. 
 

A) precisely  B) notoriously C) compulsively 
D) suitably  E) flexibly 

 
43. In some parts of Western Europe, ---- in France, 

Denmark and Sweden, cohabitation has become 
almost as common as marriage. 

 
A) completely  B) deceptively C) notably  
D) voluntarily E) relatively 

 
44. Latin American countries on average export only 

about 10 per cent of their products to other Latin 
American countries but ---- 20 per cent of them to 
the US. 

 
A) almost  B) fairly  C) respectively 
D) initially  E) extensively 
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ADVERBS CEVAP ANAHTARI 
 

 

1) D 2) C 3) D 4) B 5) E 6) E 7) A 8) A 9) D 10) A 11) D 

12) E 13) B 14) E 15) D 16) E 17) E 18) C 19) E 20) C 21) D 22) C 

23) A 24) A 25) E 26) A 27) D 28) C 29) B 30) E 31) B 32) D 33) C 

34) A 35) A 36) D 37) C 38) D 39) C 40) A 41) A 42) B 43) C 44) A 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


